Pedin 14 Wed §Arp20IS
Salla
gN ) \Juw*L( e i"l*""t':"y
-1 t
,,,,___l_,-.,— _ = 2 fex tRAx
[ - SiAX [ + 5K
, IR AT R QU LY
LH = :S/'\Kg () +5iax) Q+S:«><3 (I =5~<)
(=S ragoeen 1>
| +0ac =1 + SiAk f/ 2 Siax
B [~ Sl/\l)< B S
_ Z‘/t,_,__,&:_\_é:25¢x+qv\><:((<”3
- cod X el %

Uit

Jrdhiter ad Soptachu Bi nulas
7. 2. ot with e heordl /o‘ﬁd\ﬁ‘{‘/:

(o S+ t) = Cot S ext —Sing Sia € B

(ke FlapasTo S+ = St €60

(C"S ﬁ’f@/s“\{g‘w))ﬂ { eyt AT )
[N S os 5 / ?\x‘k fﬁ\‘_ (ﬂ.}\?“‘k ‘fF
A oo cherds
o)

o
{

-1) ' . \ resenl® b

( ~ (\Co‘; hg;(;,m(;j-&}/} ‘Q&S i RPN

L t}/ ¢ l L
E@s@t\ ~ (lL + [ Bt ~o) = Hﬁ“t ~ @S&)) +[sink - gy
X ] LL 2ot hesS + con”
. _ )+ | + SN Q‘{'f) = Ced = ) 5
e Cosr(54) — 2 o5 Gt ) Lot g + LSS + Sint g
,\\‘\\M |
- 9 ,zfcost 5§ = Shé sins |

Y ‘l Y"\
> 3 2 ~2 o\ (st -
CosStE) = (oy§ ixt —=SnS.Snt



Ml e s

Reupark ® )_B_LH tho PCM)A}-\i (dahhy ave Q‘Q(q'h\a(/)

P

ea_g?/ fo darive .

Q__ﬁ . bQJ\l‘\)Q_ e &‘Mga ‘&JMJC\ .

(o5 (§-£) = L8 (5 +ee))
= (8 G g bE) —SAS sia(-t)

—

- ef S cost + ShS St

(’(«s(&, ) = B8S &3+ + Jia§ _S"«:‘]

e & formmule "YS*‘ Sl‘«(\&}-t) ,

ey, Des
Sin (ngt\ = S (o3 (’% - Q**B\ = Cof L@ -$)— tl

= os(Zs)ont + oan(@m)gint
= SinS v ocesT 4 ess - Sint

So | Sinfst) = Sing cpt £ s sl

fron S A ken T |
[ — +aas tant

Also

/

kan §+E) =
|
~{:qu_§._. 'Eﬁ.m'é'

e (S-9) T T e e

%



wut Y (g5

)\.
37 20) Fnd rhe e><ac_+ va lve s b

Cog '%{:r cs(';)_s\‘« i,zgff"('%\

oS (m*

- Col ['S'» +(-% ] >
ZC«*SQ%>:COS%E r,;\

3 QL ond cotie s nonfie thoe.

\oe_chL
3“{> \fU‘\{:Y PL-L (&V‘J‘H’Y J
Cog, (kY ) + €3 (X~ )ﬂ 7. cet Kcogy

LUg = coslrry ) +ea(x- v )z ceax CEY —Siax (iny
+ of % (a3 \/ + SiaX slf\’

= RHg

2ax By

1.9 Dooble Aag(a H«f{ Kv\5(g efc,

D Qa2w = Zsmmom
O CoS 2« = CDS X "S“’\ R
\>> = Z_Lo.&mk'— {
D - | - 2 gin" X
o w7
| — tam- x
Sopoe (3 0 Com K 2k = 2 gt x — |
| +ealx = 2 aatx
[+ ok 2x | femdc o
‘(—-—?':“ = CGSLK Loww™ o1 Pomrear
Li\umm)a;e@ " ) | = (k2% _ o2 Mﬁ((o
> - Sl'\ PSS




my g o~

7
/23 Use_ Pow>” low &, 5 1Dy T resride cos* X rp cermove ortd
T (,C coSwmy-
4 - z 2
S x = Qcﬁz x\ = ) 4 Ces 7—)<> - | +2cos 2x4 0ot 2x
T G -

—

- AN Qx.cw(\(a, ;59'0\
_ 02 plesex Llasyx] <,
l C’SL( )( p —E- + > 8' % { ‘!"ﬁj}’\‘m\{b ! \
‘ o Lyasmial

Lf3’> F\md\ 'HLL elc_q_s_"‘ \Ja(ue &[ Cof (2 t&r\-( %

Let B = A ‘—g': $a that tan b = LSZ:-_

Wa ore loskdy fie g 28 =0 o™ — |
act G coy & 7

gb COSBZQJ‘-: 5_

and
13 > h\/b 1%
o '
.Lo\vxé'-’g??’ "_" . w 2 ’L~
5 s (oS = (u-g(?) ‘
5 Mz 5T =23 - |
< s s _ 50 8
=~ Jleq = 1D = ¢ QWA*) leq 709

_ne
\ ] 64



MHC yfglis

Hold angle  (damhhes @/ S
—_— N
Cort with e PoveLomeriy (D
Q.)@«P(a 2
CeS™ % = ) 4+cesx cndh ot X:%_
T
jo -&\A‘f— 2x = U .
2
€4 - [+ st
CE)S 2 " L/‘—? Takc S{uare. feoit
(_05 _.('-k— - i 2
Shadlert

w Q‘N\VK _ /"('OS"(

| + et S u

s ¢ e st k&@ angle (dudly B fuingod »
raghisl kel © B




